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MM HASE MEOE PF
el ABRES(O2ESII=EESIH) (cte &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
M2 7,515,146 6,574,723 940,423
= 1,456,974
Al 6,058,172
NASS MEotd 2% 6,794,966 6,278,280 516,686
[ 1,456,974
Al 5,337,992
o 2ES(92ESII=EY3H) 6,794,966 6,278,280 516,686
& 1,456,974
Al 5,337,992
NZ#YEEH XIS 88,501 81,670 6,831
= 88,501
101 o124 H| 27,000 28,000 A 1,000
& 27,000
04 J12tH22XNSE+ 27,000 28,000 A 1,000
0288 sS LAAMHIEL 27,000
= 27,000
201 LBr2e| 25,501 24,670 831
= 25,501
01 At 22|l 25,501 24,670 831
O2z8s AT MARC & RERZ S 25,501
= 25,501
202 4 B 35,000 29,000 6,000
o= 35,000
01 2| 35,000 29,000 6,000
OoesEs FL2XNE 35,000
& 35,000
301 YerB A3 1,000 0 1,000
< 1,000
12 J|Et2 A2 1,000 0 1,000
Ofzd dEAZ 1,000
& 1,000
3220 AIEHl X 773,501 773,501 0
& 773,501
307 QI2t01 ™ 773,501 773,501 0
o= 773,501
01 92 =H]| 773,501 773,501 0
O8220 AIZHl K& 773,501
O=CREY =322 20,000
& 20,000
Q@02 EFFP RH| XA 668,501
o= 668,501
O=20REZ BH 65,000
& 65,000
02 & Hl 20,000
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HE: HASE MEOY BE
P EEEESIEEETPT) (el @R
SA - SR(E) - HRAY - BES 01l &4 24 e HIRE
| < 20,000
el Ab 1A | 190,848 162,656 28,192
= 190,848
307 212+01 o 190,848 162,656 28,192
= 190,848
01 =P =H] 190,848 162,656 28,192
OBEIAF o121t 190,848
< 190,848
== 2,422 6,000 N3,578
= 2,422
307 2I2toI ™ 2,422 6,000 N3,578
= 2,422
01 A SE P =H] 2,422 6,000 N3,578
ot=3 2,422
= 2,422
ol2Es EE3H AHl RE=3 5,327,992 4,842,751 485,241
308 XXM SOIA 5,327,992 4,842,751 485,241
05 UHXHH2URES 5,327,992 4,842,751 485,241
OSESEESIH Al 2E3 5,327,992
ol gyl 10,000 10,000 0
801 oilHlH 10,000 10,000 0
01 Oilgl 10,000 10,000 0
ooldgidl 10,000
rag g 3 SN 401,702 401,702 0
S 401,702
307 212+01 401,702 401,702 0
= 401,702
01 A= =H] 401,702 401,702 0
(OFal=g-5-F NN ] 401,702
= 401,702
HRES(ME=X) 720,180 296,443 423,737
BAEINE(AESESIIZSLESH) 720,180 296,443 423,737
AMEHEXS Btets 720,180 296,443 423,737
802 Etet =TI Et 720,180 296,443 423,737
02 Al - EHIEZSEES 720,180 296,443 423,737
OAl - SHIEXZ B3 720,180




